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0 74112 0.231 (X Y):= (XY XY ) P
1 769.435 X = 636..2200 X0 950
q(m,n,xo0,Xx) := l-I:(x - x0)3-m +n-(x — xo)z]
Given g(m,n,x0,X) - Y =0
m
( j := Minerr(m,n)
n
ffset cutoff) := (0.22 _
(offset cutoff) := (0.22 o) mY [-9.44461 x 10”7
Q(m,n,xo0,x) := |offset if x < cutoff 0| = _s
offset + q(m,n,x0,x) otherwise o 6.08571 x 10
950

_
Resd := Y — Q(m,n,xo0,X)
"Too beautiful not to be true" [Dirac]
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Fonction homographique compléte
XY = . ; (X V)= (XY<0> XY(D)
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a 0.5
homograph(a,b,c,x) := d-ax b |:=]05
(b + ¢-x)
¢ 50
Given homograph(a,b,c,X) - Y =0 J =285
a a 0.56
b | := Minerr(a,b,c) b |=]|049

¢ ¢ 51.1
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Fonction homographique complute

Decimate an XY data set

Decimate(V,n) =

k<0
for ie 0,n..last(V
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Fonction homographique complute

Decima‘[e(XY<0> , n)

Decima‘[e(XY< v , n)

out, < Vi
ekt 1 XY := augment(Xd, Yd)
out x v = (v xy'V)
0.5
1-a
homograph(a,b,c,x) := ﬂ =105
(b + ¢-x)
c 50
Given homograph(a,b,c,X) - Y =0
a a 0.595
b | := Minerr(a,b,c) b | =| 0.495
c c 50.871
Fonction homographique complute
Iy
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